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ECONOMICS

(General)
PAPER—IV
( First Half )
Full Marks : 45
Time : 2 Hours
The figures in the margin indicate full marks.

- Candidates are required to give their answers in their

own words as far as practicable.

lllustrate the questions wherever necessary.

Group—A
Answer any five questions : 5x2
1. (a) Mention the general features of a rural economy 2

~(b) Write the definition of correlation coefficient. 2
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{c) Mention some important programmes relating to rural

employment in India. 2
(d) What is sample survey? 2

(e) What are the different measures of central tendency ?
' 2

(ff What do you mean by co-operative farming? 2

(g What do you mean by primary data and secondary

data ? 2

(h) Write the definition of project. 2
Group—B

Answer any three questions : 33

2. Discuss the role of agricultural sector in the economic

development process of a developing country like India.
' 5

3. Describe the salient features of MGNREGA. S
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Discuss the role of Co-operatives in India’s rural credit.

find the ‘Standard deviation’ from the following table
giving the age distribution of 540 members of a

parliament:
Age in years : 30 40 50 60 70

Number of members : 64 132 153 140 51
5

. What is a Research Pfoject ? What are the majorA steps
taken in preparation of such a project?

Evaluate the role of Panchayati Raj system in the process

of rural development in India. 5
Group—C
Answer any two questions : 2x10

5 “What do you mean by rural industrialization ? Discuss

the importance of industrialization in the rural

‘development pocess in India. 2+8
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9, What do you mean by rural development ? Discuss in brief
about any two programmes in India relating to rural

development.

10. Calculate the Arithmetic Mean of the following table :
(a) Class Interval 0-9 10-19 20-29 30-39 40-49 50-59

Frequency 13 38 67 76 22 4 -
(b) The following table provides the average wages of three sub
groups of workers of a factory.

Sub-group No. of workers Average wages (in Rs.)

A 50 61.0
B 100 70.0
C 120 80.5

Find the average wage of all the workers of that factory.

6+4
11. (a) What is ‘Scatter diagram’? 3

(b) Determine the correlation coefficient between x and

y from the following data : 7
x 5,7 9 11 13 15
y: 1.7 2.4 2.8 3.4 3.7 4.4
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Sub-group No. of workers Average wages (in Rs.)
A S0 61.0
B 100 70.0
& 120 80.5
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331 (¥) Scatter diagram &7

() fraferfis oo (e x @ y-93 900 AT RIS wam R

+q
X 5 7 9 11 13 15
7 1.7 24 28 34 3.7 4.4
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